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NUMBER - MONEY MULTIPLICATION &

How many cents are there in these amounts? Multiply the top row by 5 and the bottom row by 10.
$0.35=35¢ $1.35=135¢

2 4 6 8 10
$0.50 = $1.70 =
x5
x 10
$0.30 = $1.50=

E Order the amounts from the smallest to largest. E @@ @

$1.90 $2.00 $0.85 [ 2 X 3 J = ‘ J
$6.70 $1.65 $1.65

E How much change would there be from $1.00 ‘ ‘ ‘ ‘
if Lauren spent these amounts?

_/E@ change = | [4 J X

e oo 2909
— Q090 Q909

-]

-\ R
@90 __ | B o000 0000
s 000 0000

H How much money does Jordan have? [

How many 50 cent pieces would Penny need to pay

for a piece of pizza that cost $1.50? D [ J X
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Each month the winner recelves a back-

SChOOI Address pack full of goodies including a CD, pen,
cap and T-shirts valued at $50. The total
value of prizes awarded annually is $560.
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Colour in the bubble. E This frog jumped six times it’s length.

Gina had 25 cents. She spent 10 cents. It jumped 60 centimetres. How long is the frog?
How many cents did she have left?

()5 ()15
()10 () 25

C] 6 centimetresﬁa@ 60 centimetres

C] 10 centimetres C] 66 centimetres

E This is the actual size of a grasshopper.
Which one of these is the best estimate of the

E Jack has two tractors. Each tractor has 4 wheels.
length of the grasshopper?

How many wheels are there altogether?

w [ ] () 40mm () 40m

E What is the numeral for five hundred and D 40cm D 40km
seventy-four? [ ]

One kilogram is the same as

() 109 () 10009

H Jayden measured the mass of three toys

using blocks. D 1009 D 100009
Toy Blocks
_ E Laura correctly added 122 and 575.
o) 12 The answer is between
() 200 and 300 () 600 and 700
6
() 400 and 500 () 800 and 900
10 E Abby read 8 books. Abe read 3 times the
number of books that Abby read.

Which toy is the lightest? How many books did Abe read?

0 0 0 J3 J s
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ENTER & WIN risinby
o . o . \ 22 OCTOBER 2010
If you are in Primary 3-6 complete ALL guestions on this side and mail hack to: NG, e i s prtig e pems
VIBE TIME, PO BOKX 810, DARLINGHURST NSW 1300 = | ; /2 inNSWLTPS/10/02750) and ACT (TP
N D [ I 10/01306.1). There s no requirement for
IR alicence for the competition in NT, QLD,
> 0 n U le : WA, SA, TAS and VIC. The Competition will
Name School name . ! DV be conducted according to the guidelines
e’ | ! of these varlous State Gaming Authoritles.
Each month the wi i backpack
School Address - ‘ i orf:';?o a fin“c’"'j‘;’,‘f"' g’:a:ae;e:"’ ;p”a?d
T-hirts at $50. The total
Phone Age Class ' = |.Iarizevsa alivarded annu:ll; is s‘;asg.e :

Does your school have a homework centre?




